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Section 1 - Paperl-English Language

1) Which of the following sentence has used the idiom "Backseat driver" appropriately?

A) Tatia is a person who takes unwanted advantage of Christino.

B) Tatia is a person who constantly eats Christino's food.

C) Tatia is a person who constantly gives Christino unwanted advice.
D) Tatia is a person who constantly gives Christino solicited advice.

Passage Questions (2-6)
Read the passage and answer the questions that follow:

He walked fairly fast, and doggedly, without looking much about him, like a man trying to shorten the way with some
interesting train of thought. He was tall, but a little round-shouldered, about thirty-five to forty years of age, and dressed
with that particular kind of shabbiness which marks a member of the intelligentsia on a holiday. He might easily have
been mistaken for a doctor or a schoolmaster at first sight, though he had not the man-of-the-world air of the one or
the indefinable breeziness of the other. In fact, he was a philologist, and fellow of a Cambridge college. His name was
Ransom.

2) What marked Ransom as a member of the intelligentsia?

A) He had round-shoulders.
B) He was too experienced for his current assignment.

C) He was unusually tall.
CEmT Techofworld.In
3) Where was Ransom going?

A) He was going to college.

B) He was collecting information.

C) He was going to deliver a lecture.

D) He was going for a holiday.

4) Who has an indefinable breeziness?

A) A philologist.

B) A doctor.

C) A schoolmaster.
D) Ransom.

5) Who is the character in the passage?

A) An intelligence officer.
B) A schoolmaster.

C) A doctor.

D) A philologist.
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6) What does the phrase the man-of-the-world mean?

A) One is very worldly-wise.

B) One is a schoolmaster.

C) One is a medical professional.

D) One has arrogance of the Intelligentsia.

7) Fill in the blank with correct prefix or suffix:

Law and order is in jeopardy when the country is with ___archy.

A) an
B) dis
C) em
D) un

8) Fill in the blank with the correct option:

Rajiv booked a in Taj Hotel for his family.
) suit
B it
o Techofworld.In
D) soot

9) Which of the following is the appropriate meaning of the idiom "An Achilles heel"?

A) A lady's high heel

B) A lady's only money purse

C) A person's only vulnerable spot
D) A person's secret pocket

10) Which of the following words is correctly spelt?

A) definetely
B) difinitely
C) definetly
D) definitely
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Section 2 - Paperl-Education and General Awareness

11) With AIM under NITI Aayog, which one of the below options is an integral part of the National Mission?

A) Business and Management

B) Innovation and Entreprenuership
C) Teaching and Learning

D) Technology and Robotics

12) The National Talent Search Scheme is a programme conducted by the -

A) National Institute of Open Schooling

B) Ministry of Human Resource and Development

C) National Board of Accreditation

D) National Council for Educational Research and Training

13) Which of the following organisms is responsible for bright blue glow in coastal ocean water at night?

A) Noctiluca
B) Gymnodinium

C) TrichodesmiumTeChOfWO rl d - I n

D) Gonyaulax

14) The Vice President of India is also ex -officio Chairperson of the which of the following contututinal body?

A) Rajya Sabha

B) Lok Sabha

C) Lok Sabha and Rajya Sabha both
D) None of the above

15) The University Education Commission is also known as

A) The Radhakrishnan Commission
B) The Wood's Dispatch

C) The Mudaliar Commission

D) The Gokhale Commission
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Section 3 - Paperl-Reasoning

16) Madhusudhan starts from point A and walks 100 m towards North. Then he takes a u-turn and walks 60 m towards
South. Then he turns left and walks 30 m towards East and reaches point B. What is the distance and direction of
point B from point A?

A) 90 m South

B) 70 m East

C) 50 m South-east
D) 50 m North-east

17) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the final profit/loss percent for a shopkeeper?

I. A shopkeeper marked the price of 1 kg wheat at 30% above its cost price.

1. Selling price of 1 kg of wheat is T 50.

S8
PRI

Techofworld.In

18) If C+D means C is brother of D, C-D means C is the sister of D, C*D means C is the father of D, then which of
the following concludes that E is the son of M?

D

A) M*N, N-E, E+F
B) M%N, N*E, E+F
C) M*N, N%E, E+F
D) M*N, N+E, E-F

19) In a certain code language, if the word BOOK is coded as 43, DOOR is coded as 52, then how will the word
OVER be coded in that language?

somz
oo s
SSwm
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20) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4. if statements | and Il taken together are NOT sufficient to answer the problem.
Alpha and Beta are two countries. Who's GDP is greater this year?
|. Country Alpha's GDP was 10% higher than Country Beta's GDP 3 years ago.

II. Country Beta's GDP was 10% highter than Country Alpha's GDP last year.

3
4
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Section 4 - Paperl-Teaching Aptitude

21) Which of the following is the most appropriate solution to deal with the short attention span of students?

A) Students should sleep well at home to increase attention span.

B) The subject plan should be changed periodically.

C) The teacher should take continuous sessions without granting break to the students.

D) Teacher should divide the content into smaller parts and take small breaks of few minutes, during a long class.

22) According to Aurobindo, Consciousness development as one of the important aims of education consists of which
of the following levels?

A) Manas, Chitta, Intelligence and Knowledge
B) Manas, Chitta and Intelligence

C) Chitta, Intelligence and Knowledge

D) Chitta and Manas

23) Content that is presented to students is generally arranged in terms of categories. Categories can be defined as

A) group of objects with different features and or functions

B) a process of guidance and counselling Te Ch OfWO rI d . I n
C) a process of instruction and evaluation

D) group of objects with similar features and or functions

24) Which of the following examples can be classified as Learning in a classroom?

A) Temporary change due to maturation

B) Modification of existing behaviour and acquiring of new behaviour
C) Acquiring of new behaviour only

D) Modification of an existing behaviour only

25) Mother tongue as the medium of instruction was emphasized by which of the following?

A) Constructivist Education
B) Basic Education

C) Humanitites Education
D) Holisitc Education

26) Which is NOT the focal point of triangular process of teaching?

A) Curriculum
B) Parents
C) Teachers
D) Students
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27) Which of the following indicates the difference between formative and summative assessment?

A) A formative assessment is an oral test supporting learning but a summative assessment is a written test.

B) A summative assessment helps to test mastery of content but a formative assessment supports learning.

C) A formative assessment is a yearly test but a summative assessment is a monthly test.

D) A summative assessment is for information of parents and adherance to standards but a formative assessment
is classroom testing.

28) Benjamin Bloom's Taxonomy of the Cognitive Domain of Learning classifies tasks into six categories:

a. Knowledge

b. Comprehension

¢. Application TeChOfWO rld . I n
d. Analysis

e. Synthesis and

f. Evaluation.

To which category does the following task belong to:

Comparing two different graphs and telling whether children of the inner city schools are doing better at reading skills
than that of the rural schools.

A) Application
B) Synthesis
C) Evaluation
D) Analysis

29) Which state government is set to start the world's first IT campus for differently abled persons?

A) Karnataka
B) Maharashtra
C) Telangana
D) Tripura

30) What does CIéCE st_anc; for?

A) Council for the Indian School Certificate Examinations

B) Council for Indian Service Certificate Examinations

C) Committee for International School Certificate Examinations
D) Centre for Indian School Certificate Examinations
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Section 5 - Paperll-General English

31) Which revision best combines the ideas in the following sentences:

Large number of people began crossing into Bangaladesh since 2017. The water of the Naf has been reduced
drastically.

A) Large number of people began crossing into Bangaladesh and the water of the Naf has been reduced
drastically.

B) Large number of people began crossing into Bangladesh yet the water of the Naf has been reduced drastically.
C) Ever since large number of people began crossing into Bangaladesh, the water of the Naf has been reduced
drastically.

D) Large number of people began crossing into Bangladesh but the water of the Naf has been reduced drastically.

32) Which of the following sentences contains the synonym of the word in bold:

The report which won the prize was plagiarised.

A) The report which won the prize was copied

B) The report which won the prize was pioneering T h f I d |

C) The report which won the prize was original eC O WO r L] n
D) The report which won the prize was pathbreaking

33) Choose the correct word to replace the word in bold.

You need to strong the rope of the swing, otherwise it will break.

A) string

B) strength
C) strengthen
D) stronger

34) Select the correct option to change into affirmative.

There were almost no people available.

A) There were some people available.
B) There were many people available.
C) There were a few people available.
D) There were hardly any people available.
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35) Choose the correct meaning of the words in bold :

In those times, the post always arrived by rail slowly chugging into the village but my mother would rail at me for
bringing it in late.

A) scold, scold
B) train, train

C) scold, train
D) train, scold

36) Which of the following sentences is a complex sentence?

A) | went back to class and | closed the door.
B) Having closed the door, | went back to class.
C) Closing the door, | went back to class.

D) After | closed the door, | went back to class.

Passage questions (37-41)
Read the following passage and answer the questions below:

Food is scattered thinly in the open ocean, and seabirds often need to search far and wide to find sustenance. Now,
researchers think they've found a new cooperative strategy among the birds, one that may help them survive on the
high seas. Multiple groups of flying seabirds can arrange themselves into massive line formations that “rake” over the
ocean’s surface, possibly to more efficiently search for food. Analysing the radar images for movement patterns in
groups of seabirds, the scientists found that multiple groups would fly in a parallel sweep as often as 19 times a day.
The birds also seemed to be adjusting their speed and position relative to one another so that they formed an evenly
spaced line over the top of the ocean.

37) Searching in groups is more efficient because

A) each bird goes farther away at the same time

B) they cover larger areas at the same time Te C h OfWO rI d " I n

C) the groups share the food at the same time

D) the groups search more efficiently for food

38) Flying seabirds can arrange themselves into massive line formations that rake over the ocean’s surface. In this
sentence the meaning of 'massive' is

A) unimpressive
B) miniature

C) enough

D) enormous

39) The new cooperative strategy of seabirds to find sustenance is that of

A) doing parallel sweeps

B) group and line formations
C) birds going to different seas
D) forming different groups
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40) The scientists found that multiple groups would fly

A) in a parallel sweep as often as 19 times a day
B) in a lateral sweep as often as 19 times a day
C) in a lateral sweep as often as 9 times a day
D) in a parallel sweep as often as 9 times a day

41) The sea birds developed a new strategy of sustenance because

A) food is scattered thinly

B) there is lots of food in the sea
C) there are lots of sea birds

D) there are fewer sea birds

42) Select the word which is antonym of 'Retreat'.

yue Techofworld.In

C) remove
D) reverse

43) Select the sentence that is correctly punctuated

A) For example thousands of honey bees can be raised in a small hive of 6 feet, the same number of cattle
requires acres of grassland.
B) For example thousands of honey bees can be raised in a small hive of 6 feet, the same number of cattle
requires acres of grassland.
C) For example, thousands of honey bees can be raised in a small hive of 6 feet the same number of cattle
requires acres of grassland.
D) For example thousands of honey bees can be raised in a small hive of 6 feet: the same number of cattle
requires acres of grassland.

44) Fill in the blanks with the correct spelling of the word.

The of a great leader leaves a vacuum in the hearts of his followers.

A) asassination
B) asasination

C) assassination
D) assasination

45) IdentifyThe p;rt of speech of the words in bold.

| walked faster and faster to catch the fastest train so that | could join the fast.

A) Adjective, Adverb, Noun
B) Noun, Adjective, Adverb
C) Adverb, Noun, Adjective
D) Adverb, Adjective, Noun
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Section 6 - Paperll-Odia Language

46) ‘IR’ 609 9Q ?

47) '@’ NG° '@ J0Q 699 AR FgYS 621 ADIAC 92U ?

A) 9GQ 2R

B) 9999 928 @@
C) 2I19aq 8IG AMG
D) 6@6dG Q6@

48) ‘@’ @ QIZQ NN R QLA ?

A) 99104 AAAER T IS 2°9 QIBEQ 6T

B) 29106 A706Q F9 2 2°d FJFI6a RIES Te C h OfWO rI d
C) 99108 ANAER 9R B0 9929Q I8 A6

D) Q98¢ AFNER §AQ 2iIG 2°8 FIFER RIET

49) JQEIIEA 9, Q, §, 9F 57 9d U6Q ‘Y’ 26 GBI’ AIFER 6TW T4 6VINAIN ?

A) &
B) @
C) @
D) @

50) ‘@ IRl ‘A’ IS 626M 6RR2Y6R RAIBAS I 2

A) ‘X al
B) ‘Q Il
C) ‘@ ORI
D) ‘@ ael

51) ‘@’ q 686 QU°FR AF GRIAINI ?

A) SR °RR
B) 684 QY4Re
C) @9y i'eq
D) &Y QU°GQ
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52) 2208 QIAR6Q 6% 0D 6LIRAN ?

A
B
C
D

) 991

) Q°eel
) ogell
) Qge

53) 'dlgQ 98 998 ' QIRYea 2R §9 ‘68’ 624 VAR ?

A) Q°gIQ
B) @4

C) 2AIQIQ
D) @Qdl

54) ¢ g 1Y 9@ G610 609 @4 ?

A) 2162191Q12

« Techofworld.In

55) 609 999 671613 QUIAER 69151 626RQ G4 AIT PIRIT , 0If @ 9 QRIAI?

A) 694%
B) ¢Q @@
C) edlaa

) QiQa
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Section 7 - Paperll-History and Political Science

56) Which of the following was NOT a condition of the “subsidiary alliance™?

A) Indian states were to be protected by the Company forces

B) Indian rulers had to pay for the Company forces

C) Indian rulers were not allowed to keep independent armed forces

D) Indian rulers could not adopt children with permission from the company

57) What did the Arms Act of 1878 stipulate?

A) Nobody could carry arms without license
B) Only European officers could carry arms
C) Only one gun per person was allowed
D) Indians were not allowed to carry arms

58) What did Lord Macaulay suggest to organise Indian society in a typical western mould?

A) Introduction of English Education

B) Westernisation of Indian social system

C) Employment of Indians in the Government offices
D) Conversion to Christianity

59) Who among the following was NOT a part of the Central powers during the First world war?

A) Austria-Hungary
B) Germany

orace | @Ch ofwc_>_r|d In

D) Turkey
60) Who was called the ‘Grand Old Man of India’?

A) Bankim Chandra Chatter;ji
B) Rabindranath Tagore

C) Dadabhai Naoroji

D) Mahatma Gandhi

61) Read the statement and choose the conclusions that logically follows the statement

Statement. Debendranath Tagore, father of Rabindranath Tagore, founded the Tattvabodhini Sabha to propagate
Ram Mohan Roy's ideas.

Conclusions:
|. Rabindranath Tagore came from a family of social reformers

Il. Debendranath Tagore was a follower of Ram Mohan Roy
lll. Debendranath Tagore wanted Rabindranath to follow his footsteps

IV. Rabindranath Tagore was member of Tattvabodhini Sabha

A) Only Il and IV
B) Only Il and 1l
C) Only land Il
D) All the points
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62) Which of the following states was captured by the British under the Doctrine of Lapse?

A) Jhansi
B) Kanpur
C) Awadh
D) Mysore

63) Who was the founder of the Brahmo Samaj?

A) Raja Ram Mohan Roy
B) Dayanand Saraswati
C) Debendranath Tagore
D) Vivekananda

64) Which one of the following is a feature of Indian Constitution?

A) India is a totalitarian state.
B) India is a religious state.

C) India is a capitalist state. TeChOfWO rl d ¢ I n

D) India is a secular state.
65) Here are some events of the second world war in chronological order. Select the right order:

A) Hitler ordered hostilities against Poland > Great Britain’s Invasion of Poland > Poland declared war on Germany
> France declared war on Germany

B) Hitler ordered hostilities against Poland > Invasion of Poland by Germany > Great Britain declared war on
Germany > France declared war on Germany

C) Invasion of Poland by Germany > Hitler ordered hostilities against Poland > Great Britain declared war on
Germany > France declared war on Germany

D) Hitler ordered hostilities against Poland > Great Britain declared war on Germany > Invasion of Poland > France
declared war on Germany

66) In a State Legislature who decides whether a Bill is a Money bill or not?

A) Chairman of the Legislative Council
B) Speaker of the Legislative Assembly
C) Leader of the majority party

D) Chief Minister

67) House of People is known as ?

A) Parliament
B) Lok Sabha
C) Vidhan Sabha
D) Rajya Sabha
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68) ‘The Constitution of India has been framed after ransacking all the known Constitution's of the World'. Who said
this line?

A) Dr.B.R.Ambedkar
B) Jawaharlal Nehru
C) Mahatma Gandhi
D) K.M.Munshi

69) Why was arrival of the Simon Commission opposed by the Indian?

A) The Commission was going to suggest communal divisions
B) The commission was trying to weaken the national movement
C) All members of the Commission were Englishmen

D) The Commission supported the Jallianwala Bagh Massacre

70) Which of the following was NOT a result of the Fourth Anglo-Mysore war?

A) Mysore was placed under the Wodeyars
B) Doctrine of Lapse was imposed on Mysore
C) Tipu Sultan was killed

D) Company ultimately won the war

71) If Axis powers equal to Germany, Italy, and Japan; Allies equal to

A) France, Great Britain, the Soviet Union, Belgium

B) France, Great Britain, the United States, the Soviet Union

C) France, Great Britain, the Soviet Union, Turkey

D) France, Great Britain, Poland, the Soviet Union

72) As a result of which battle did the British gain Orissa and the territories north of the Yamuna river including Agra
and Delhi?

A) Battle of Plassey

9 seond o mararavir [ @CHOfworld.In

D) Third Anglo Maratha War
73) What was the verdict of Supreme Court on the Golaknath Case vs State Of Punjab?

A) Parliament doesnot have the power to abrogate Fundamental Right
B) Parliament has the power to amend Fundamental Rights

C) Parliament has the power to restrict the Right to Property.

D) Parliament has the power to amend the Constitution

74) Who among the following was given the title 'Lokahitawadi'?

A) Gopal Hari Deshmukh
B) Gopal Krishna Gokhale
C) Dayananda Saraswati
D) Raja Ram Mohan Roy
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75) Who said 'Preamble as the Identity Card of the Constitution'?

A) Dr.BR Ambedkar

B) Dr. Rajendra Prasad Te C h OfWO rl (

C) K.M.Munshi
D) NA Palkhivala
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Section 8 - Paperll-Geography

76) Maximum positive deviation method in agricultural faming is proposed by whom?

A) Rafiulla

B) Mohammad Ali
C) Weaver

D) Doi

77) Which of the four states are awarded UMPPs (Ultra Mega Power Projects)?

A) Delhi, Haryana, Punjab, Uttar Pradesh

B) Madhya Pradesh, Gujarat, Andhra Pradesh, Jharkhand
C) Maharashtra, Karnataka, Tamil Nadu, Kerala

D) Uttarakhand, Himachal Pradesh, Assam, West Bengal

78) Which state Buxa Tiger reserve is located?

A) West Bengal
B) Karnataka

C) Madhya PradesweChOfWO rl d g I n

D) Uttarakhand

79) Read the following statements and indicate whether they are true or false.

I) Himalayas are called as the "Young Fold Mountains".

Il) The Himalayas are formed due to convergent plate boundaries.

A) Only lis True

B) Only Ilis True
C) Both are False
D) Both are True

80) What kind of resource is Silver?

A) Social Capital

B) Personal Resources
C) Social Resources

D) Economic Resources

81) Which is the richest country in the world interms of renewable fresh water resources?

A) USA
B) Brazil
C) Canada
D) Russia
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82) India has which type of location?

A) Isthmus

B) Archipalego
C) Continental
D) Peninsular

83) Which of the following is the International Date Line?

A) 90 degree west longitude
B) Equator

C) 180 degree longitude

D) 90 degree east longitude

84) During summer solstice what is the position of earth from the sun?

A) It is farthest from the sun
B) It is nearest from the sun
C) Itis overlapping the sun

D) Itis at the same position

85) Who advocated the policy of Tribal Panchsheel for protection of tribal rights in land and forest?

A) Jawaharlal NehruT h f |d I

B) Mahatma Gandhi eC O Wor a n
C) Atal Bihari Vajpayee

D) Indira Gandhi

86) Which of the following divides the earth into northern hemisphere and southern hemishpere?

A) Equator

B) Prime meridian

C) Greenwich meridian
D) Anti meridian

87) How many types of Biogas plants are there basically?

D bhOIN

A)
B)
C)
D)

88) Which of the following agent causes Aeolean erosion?

A) water
B) snow
C) wind
D) glacier
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89) Which of the following statements define the term "Biome"?

A) An area of the planet that can be classified according to the plants and animals that live in it.
B) A biological community where living organisms interact with their physical environment.

C) Parts of the earth where life exists.

D) A type of natural environment in which particular species of organisms live.

90) Which state gets winter rainfall due to north east trade winds?

A) Assam

s wersesa ] @ChHOfworld.In

C) Kerala
D) Tamil Nadu

Question Paper No: 62116_14
Answer Key

TecDoﬁNoﬂdJn

1 C 61 D
2 D 32 A 62 A
3 D 33 C 63 A
+ & 34 D 64 D
5 D 35 D 65 B
6 A 36 D 66 B
7 A 37 B 67 B
8 B 38 D 68 A
9 C 39 B 69 C
10 D 40 A 70 B
11 B 41 A 71 B
12 D 42 B 72 B
13 A 43 & 73 A
14 A 44 & 74 A
15 A 45 D 75 D
16 D 46 B 76 A
17 D 47 C 77 B
18 A 48 D 78 A
19 & 49 A 79 D
20 B 50 A 80 D
21 D 51 B 81 B
22 A 52 D 82 D
23 D 53 ¢ 83 C
24 B 54 A 84 A
25 B 55 & 85 A
26 A 56 D 86 A
27 B 37 A 87 A
28 1, 58 A 88 C
29 (6, 59 C 89 A
30 A 60 C 90 D
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